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— E AKX 7,000,000& =3CH 21,000
—SAES=HEXNE 204 5,000,000& *«2CH 10,000
OHIUZESSIH(MYIIMNER 25 &2E) 5,000
Osdgstl 20,000& x123] 240
206 TH 2 HI 37,000 29,000 8,000
01 M= bl 37,000 29,000 8,000
O&Esr MHeldE 7 5,000
OEE ASAE FL(LHMAM, Kol =E
XA 7,000
Oog48e 2 10,000
Ofelkl €28 2 5,000& *1,000kg 5,000
OFES XMeAE B 22 S 10,000
401 Al HI L 2T 80,000 40,000 40,000
01 A& HI 80,000 40,000 40,000
O&Fss+Hdels a8 A 22,000
O&Z=x H2ANE REH WA 13,000
O&F&+ Hes o2t H2E i S 10,000
ORMHS eSS 2sAME X S 15,000
OME 2 LoUNHSAAE AlD 22 (RFEIH DI
2 Jtniet »H S) 20,000
MYIBYH MAKY £4HE N 10,000 10,000 0
T 2,000
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EX: sH3Es
M HIIZSHE JIBtAIE &=
e XNF=EE HoIS2el HR| A )
SA BB (3H) - NRAY - B ﬁlgﬁ HRE2
o 8,000
201 LBt Y| 10,000 10,000 0
= 2,000
= 8,000
01 AP 22| d| 10,000 10,000 0
OMAYJIEEM HeAXE £=04HlE X
10,000,000 1 10,000
= 2,000
= 8,000
SEHH Y £H&Hd=2 A 44,000 42,000 2,000
= 3,740
= 2,080
= 38,180
301 LBt A= 44,000 42,000 2,000
= 3,740
= 2,080
= 38,180
11 JIEtE2 A= 44,000 42,000 2,000
SZEMHHY =243 X
44,000,000 =1 44,000
= 3,740
= 2,080
= 38,180
ot&ESR MY DIl HSAY 60,000 86,000 A 26,000
= 42,000
= 18,000
101 Q124 H| 48,000 77,400 N 29,400
= 33,600
= 14,400
04 JI2ZtHIZ2 2 NEES 48,000 77,400 N 29,400
O L3F2MEI HatAtY
48,000,000 =1 48,000
= 33,600
= 14,400
201 Bt 12,000 8,600 3,400
= 8,400
= 3,600
01 AP 22| H| 12,000 8,600 3,400
O LU32MAI HtAY
12,000,000 14 12,000
= 8,400
= 3,600
HAZ=H MYIIXHESE 2 10,000 9,763 237
& 5,000
= 5,000
308 AXIEHMSOIA 10,000 9,763 237
= 5,000
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SN #EESD
I HOISH JlBAE =5
e XNF=EE HoIS2el (e H)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
o 5,000
07 AXSHHZ2HESSZS 10,000 9,763 237
O8TY £ MYII Hel 223
10,000,000 1A 10,000
& 5,000
= 5,000
CLSSH0E EH KNIANY 369,600 369,600 0
- 184,800
= 184,800
403 XX SHHS K20 & 369,600 369,600 0
- 184,800
= 184,800
02 BI2SOHUSASEUSEAE I 369,600 369,600 0
OLE&d0lE EH XNEAY
369,600,000 1 369,600
= 184,800
= 184,800
MeEsUIotE X XN& AtY 85,000 0 85,000
= 42,500
= 42,500
401 AlEHIZL L2 0HY| 85,000 0 85,000
= 42,500
= 42,500
01 Al&H| 85,000 0 85,000
OMEE SUIDIY &X XA
8,500,000%10 85,000
= 42,500
= 42,500
ANS=s sdHE0IE2 T HAY 50,000 0 50,000
o= 25,000
= 25,000
201 gEt24d| 10,000 0 10,000
= 5,000
= 5,000
01 AP 22| H| 10,000 0 10,000
OXNI=ssdMHE0S ZEAY
10,000,000 » 1Al 10,000
& 5,000
= 5,000
401 AIEHIZL 201 Y| 40,000 0 40,000
= 20,000
= 20,000
01 Al&H| 40,000 0 40,000
OB &S SMUENS ZEAMY
40,000,000 =14l 40,000
= 20,000
= 20,000
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SN #EESD
M s MHelsY &5
H?: N=EI3SHEAE 222 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 =8l 413,843 413,843 0
ONEEIIHUANE 457 398,843
ON=ERads3dMelAE RAEx HMH7L 15,000
207 Ao &I 13,000 39,000 226,000
01 A2 ESHI 13,000 10,000 3,000
OZXl HE™el JAJAHL EH 3,000
OHELEMZAIE =& 2LIHE 10,000
307 21201 A 223,650 497,000 A 273,350
05 BIZERI & 3 223,650 497,000 A 273,350
ON=E=xHdel sl /s X2 29|
149, 100& 1,500 14 223,650
401 AIEHIZ 28I 486,500 1,052,000 A 565,500
01 A& Hl 485,000 1,050,000 A 565,000
OHIELEMZALE &4 15,000
OHIE2QE M2 AIE JIHAEE =X 2yl 20,000
OHIZ2EMZAIE HII&H KXl 10,000
OLFM2AE A& 20,000
gHlsts X XS Hel 19,000
O&Hel&Y SN2 111,000
OAOF H2D] & SJ1¢=D1 £X 65,000
On&4st & ME2SA Hel2d RNE= 100,000
O&Il & NsHAH &H mXE=+
50,000,000 » 14 50,000
Oll=2rs s=d28XeE 254H &X
30,000,000& » 14! 30,000
OJIEtEH "X E=+= 45,000,000& 14 45,000
03 Al 20 HI 1,500 2,000 A 500
OAOF H=2tD] & ZJ12=01 &X
500,000& x 14! 500
O&Il & NsHAH &H sXNE=
500,000& x 14! 500
O&Heldd SXNE= 500,000 » 14l 500
405 RHoHF S HI 15,850 11,400 4,450
01 XL 2 ZFH S| 15,850 11,400 4,450
S8 =ZA=D(0001H, pHOIE) &
6,000,000 =14 6,000
Ot EH 2 5,000,000& 14 5,000
OdEIIA UPS 7L 3,800
Os2dHAHA 2LH 7 1,050
SteXelsgEs 1,489,741 987,201 502,540
= 85,000
e 1,404,741
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AN EIESH
BE: aHelsHes
Sl stamel +EUs CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ot=Xcl =223 1,489,741 987,201 502,540
2 85,000
s 1,404,741
BEIIEANE BHASY Z209Y 170,000 0 170,000
= 85,000
s 85,000
401 Al HI X 201 170,000 0 170,000
= 85,000
[ia 85,000
01 A& HI 170,000 0 170,000
OHZ HHl EXAY 170,000, 000& 14! 170,000
= 85,000
[ 85,000
ot HMalAlE 22 29 666,801 465,991 200,810
101 124 dl 1,500 2,000 A 500
04 JI2ZHHZ2XREES 1,500 2,000 A 500
OM=&Y £ 1,500
201 YEt2 Ayl 311,993 149,778 162,215
01 At 22l 61,260 300 60,960
ogdd 372+7Y 300
OTS 2 H&2ZR S| 1,000
Odt+=HXel38d =224 =2 1,000
OAlF el 1,000
ogA 57,960
— 243 60,0003 x2H 118 14,160
— =3 60,0003 x2H «3652 43,800
02 =24l 250,733 149,478 101,255
OdJ|etE e+ 350,000& =128 4,200
OAlgE & EH sX2e 10,000
OXIIRS 11,000,000& »12& 132,000
=ZSEHII(TMS) |2l 15,000
OANE Jlsgdd =2 66,945
O%F JlsdH =2 22,588
206 2 I 61,213 58,213 3,000
01 MHZ 8l 61,213 58,213 3,000
O2=sotx=Hel 485 + 41,213
Oot=HMelAlE UHHAL (MM L SAAES) 10,000
OFEXNSEEI(MS) 28 L A2 7¢ 10,000
307 21201 A 91,095 95,000 A 3,905
05 BIZHRIE 3 91,095 95,000 A 3,905
O2=xdt=sclXl & XS
149, 100& 450 14 67,095
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2H: BEESDY
RS e e
el G2 +EYE (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O=ZXNS=3I|(TMS) |22l
2,000,000& x12& 24,000
401 Al HI L 2 0HHI 199,000 158,000 41,000
01 A& HI 198,000 158,000 40,000
OZ2X ¥ NI &4 19,000
O&tst JIHAEH RAE= 16,000
SOIHAEH SAES 15,000
O&Xclas JIHEH RAE= 35,000
ONI|I&H RN+ 20,000
OXNSHAHEH SN2 20,000
Outsgtx =&8AFI RAE= 15,000
OE=J ({U=E A 15,000
OCCTV & Xl 3 At 15,000
OAN&EZE HFLEH E2290 HE B3 Al 10,000
OAUEYT BT A 18,000
03 A& 2 0H b 1,000 0 1,000
O&Hels JHEH RA B 500
O&II&H £ MNSHHEH |X B 500
405 XHakF SHI 2,000 0 2,000
01 A&t = S F SHI 2,000 0 2,000
OHNED #2¢ 1,000
OSA2HA 2ZAIAAE A 2 O T} ¢l 1,000
AAMGIEXE AL 22 &9 652,940 521,210 131,730
101 @121l 3,000 3,000 0
04 JI2ZtH 22 XNEE S 3,000 3,000 0
OM=&g o2 3,000
201 Yet2 | 286,260 159,030 127,230
01 AP 22l Yl 35,000 5,300 29,700
Ox=ZTNS 22d 0l e Sl 1,000
OMEIa 2E&E *d 3,000
Ovzx=a 15,000 x2E5 + 128 360
O8=J gz 30,000& * 1 ~12& 360
o&ags P2 100,000& x5 500
O&ds 2 100,000& x5 500
ogxa a3 150, 000& *23] 300
O g&l 28,980
— 25 60,0003 *1H x118 7,080
- =% 60,0003 1 %365 21,900
02 332494l 251,260 153,730 97,530
O&J|otNM2e =2 500,000& x12& 6,000
OAagotd2e U =2 150,000& = 12& 1,800
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SN

X{ XH -
S =

HE - G2 (3) - NN - BES il HlnE2
Og=ss UHYE S5+ 1,400
Odt=HelAlE HE3H AEEZ 2,000
(@OFSPIE=E=; 120,000
OdMERE=S 250
—ANEEZE 75,0003 x23| 150
- sk 50,0003 *23| 100
O4dt+=ER= 1,000
OfdYsAES 70,000& x12& 840
Ozt 34 e 7FHl 120,000& =12 1,440
O2tn3d el FA2el 3,000
O=ZNSEFHII(MS) B A =22 4,000
O=2XNS=FEIN(MS) EZH A UH MEEH
b= 1,500, 000& =4 CH 6,000
OFAMNAS 1,500
ogtdEs #2 3,000
OSoXelAd MAE 3,000,000& »23| 6,000
OA&EE & ZHl sX22) 10,000
O33&Z A4 Jl=& 83,030,000 =10 & 83,030
(1] 3,000 3,000 0
01 =i 4 1l 3,000 3,000 0
OSHEBZZEFZE S AL 3,000
M= 8l 91,000 97,000 A 6,000
M= 8l 91,000 97,000 26,000
Odt=Hel 435 ¢ 20,000
AN SESHII(TMS) 28 F(C00,SS,T-N, T
-P) 12,000
OAEA A2F FL(ZXNF HSHES) 6,000
OsHEZY 2 XM 2 10,000
OE=J MtE 2 6,000,000 »23| 12,000
OBtSsx dA 2 10,000
Owd=Z 3¢ 10,000
O&JI&dl 23 #¢ 5,000
OZFeH™el = 2 60,0002 100 6,000
SR/ 16,360 13,360 3,000
2 E A 3,000 0 3,000
OsdXE eIy g4 3,000
A& A 13,360 13,360 0
2N = 1,000,000& *123] 12,000
Osdil 248 =2 200,000 *43| 800
OLHEH =F 40,0003 *43| 160
Odt& = =ZZA =2 100, 000& *43| 400
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AN EIESH
BE: aHelsHes
ol stamel AU (ol @)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 160,320 160, 320 0
05 RIZHRI & 3 160,320 160,320 0
Odtes=ed Xl /AE X2 136,320
O=ZXNs=HII(TMS) e 2teldl
2,000,000& x12& 24,000
401 Al HIZ 201 8] 73,000 83,000 A 10,000
01 A& HI 73,000 83,000 210,000
OFAE SHEBLZE ZLIA
9,000,000& 23] 18,000
OJIAHEH |RA 2= 20,000
O&EIIZHl |X 2= 20,000
OAMR4a 2lE22d 15,000
405 Xt&tE SHI 20,000 2,500 17,500
01 XML = ZH SHI 20,000 2,500 17,500
OARa EIl17¢ 6,000
Oduterd ¢ 5,000,000& »2A! 10,000
OBOD M&28HZI| 2 3,000
oIl #¢ 500, 000& »24! 1,000
HH2IZH (B E2ES W) 73,860 79,368 5,508
Jl2 &3l 73,860 79,368 A5,508
S3EsH JI=234l 73,860 79,368 5,508
201 ¢er24l 31,680 34,020 A 2,340
01 At 22l 31,680 34,020 N2,340
Oz & 31,680
— ZA0 4t 27,680
— S H A0 4 4,000
202 04l 37,800 40,848 A 3,048
01 = LH o4 1l 37,800 40,848 A 3,048
O 0l &t 37,800
203 ¥ S =&l 4,380 4,500 A 120
04 FEANSEHE=LH 4,380 4,500 A 120
OCeZEsY 2A2E 365,000& 128 4,380
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